(1) (15 points) A hot air balloon rises vertically upwards from a distance of two
miles away. When you see the balloon at an angle of /6 radians, the angle
is changing at a rate of 0.1 radians/s. How fast is the balloon rising?




(2) (25 points) Consider the functio { 7) defined by the following graph.
o il

4 (a) Label all regions where f(z) < 0.

4(b) Label all regions where f'(x) > 0.

q(c) What is litn, . es f(2)7

L‘,(d) What is lim,_ 00 f/()7?

5(e) Sketch a graph of f'(z) on the figure.

"t(f) [abel the approximate locations of all points of inflection.
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(3) (15 points) The value of tanz at n/4 is 1. Use a linear appm}s.{imation to
estimate tan(0.8). Do you consider this to be a good approximation?
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(4) (25 points) Consider the function

FRE) = r2 — 3z + 2

a) Find all vertical and horizontal asymptotes of the function.

b) Find all critical points of the function.
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(¢) Determine the intervals where f(z) is increasing and decreasing.

(d) Use the 2nd derivative test to attempt to identify all local maxima and

minimea.
(e) Sketch the function and label all relative maxima and minima.

a) veshiul aS‘J‘MphMi =t = (x- 2)(’24)
so e MLJW?\"W & 2 \‘Z_
\’\M%h\ G{Slow?\ﬂ}e/}: Lim L) To

X - e X—=2—0Q

Y ). ) R ws %

) Fl)7o )'x_<3/2 Wcreatingy
F(r) <0 & > 3/2 davtaing

‘ =42 L(""L - (2(11—31. ) ‘333 (~ 11433
00 {’—‘(1):: (._1 ) )JE*_____




e~

(5) (15 points) A cylindrical can of volume 1ft® is to be constructed, where the
material for the top and bottom costs three times as much as the material
for the sides. Find the dimensions which minimize the cost of the can.
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(6) (25 points) Compute the following limits. Show all work.
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